3D YA JRL

ool ELICh
\

)

S Hepa wpeVokE 24
Ciencekit



A=

tAxg_r

ot

Qo Hist2 MEHFT0] #2 Te 4o 20| EEELICL (0l:A-A-A-A-A, B-B-B-B-B)
wom, 0ol et > 22
Tk Atole] 2FAE [ 1
AHE 4 ABLICL : L =, .,
= <mm
—r
CHE TS HZop 4o T 2t20] SolTLct (0l:A-B-A-B-A-B-A-B)
I > g
0
| ] I 1
nl nl i i ¥ o Smm
A
ALY

| 21X LA 2] X X|= - 2cH ®NQ e MU S SIS FHEL|CH
e B ||

2lo
[ ==

os=
RAREIRERIFFIFRNERA
3.2t XIS 9l 22 ¥so| £ DTS YRof 8afEn, 2ok WM JYLIC

gl RNY =2 oxf |~10 & QoH MNYG = D ||~7

[J

2. 59 ool gizto| S E &Lict

=

4. 22 071 |0 £ DTS IURE HS =AU Z A== HOoS-LICH (1=2Motzl, 10=2 21)

S5.40r2T £ D™ 0TS 2 wA & HX| BiF 27 2l 22| 3D YA 2o MIELICh



E1 L TS 2o M2|Y 10 A= 210 0| 510 20H = My 2FL|CH

Mojgt AT E |

odcH ®NQ 10







I 210l 0| 510 0= HpH 27T

A

oF
=

T Xz - 20 X2|

il oh2| 2

Q%

| A B

=)

OF

~
o

frdl

=

r

=)

Aol @I AT E

il
o %0
ok
U
Ol 0lJ
Ko RO

|

o RN |




BEX? =2 oo xo1 221 51 9i0) 2201 52 2ci2 w7 22U

[ Ao AT E | \%

En
2
£
o
&
<R
&

[ ) ecH mMAIqf 2 \ }




T3 =2 o) 72 39 %1 9i0) 2201 1 20k w2

{ LIS A — \3)

L @J
o ®AIg 3

3



BEY* = 2o xol1e 4 %1 9101 2201 2 202 wi 22U

AOIRALATE

2% 188
2HEHS| HAIGH A
2{OM O M|
O T o

(YT R RITTT




PN =t2 o0 xio19 51 X1 giof 220 52 aefz i 2Lk

AOIAAAE

CYTR R



EX° =2 =i xo1et 641 51 9101 220 52 20k w7t 2B

Ao|@I AT E

B [

237

meh

"2H|27

O Ajm|
T O =

gohHRIgt 6




= T T I-
A
I
=
T 2|0 O‘I EH H'|771
=
A S X =1 7 ]
tZ S
| |X
|
EH
7
II:I
17
EI‘I
I_|-E —
.

—
A —>
MBS
Aol

7
S //////

.
R
X



BEX8 =2 oo xio12 81 %1 9l01 2201 5.2 2012 Wi 2L

Ao AT E |

gch Mgt 8



9 e 20 M2 | 9 X = 2loll X0 1 CHZ H7H DFLICE

AOIATNE A

[ e—
[ c—

Sch Mg 9



=

Em TS 20 X2|2 10 x| = 20 FF0f £ IrH2 HiH 2TL|CE

_ B [ | 10

Ao|eI AT E

N op 2t

ech Mg 10

2 MO 2 4ot 221 UAIE BE¥E|= 201K 7|29 2|thz X

Eoim}
Tou



T X|=-eh X2| Q1 o 0] 510 20H = HpH 2FL|Ch

=
=

A

il Ch2]

ol
=

| A RS

Aol@I AT E

- ==

] <A A
J w7 <0 X0

4 Ik OF Ok

NS _ m_ﬂ

nO = ool

. o H <o

odch Mgk |

L




EZ TS 2ol M2 2 X = o %30l 510 202 HpA 2L

Mol AT B | |

ofch Mg 2



.
L, =,
s [ |

AO|9I AT
arde 3 A

43

5A

6[5

&

or
ol
N

_keﬁ
3
o
T !

oY
4m
OU
=t
urE
fol
=2

ol
-

2|

e
a1
rH |y gu o1 0%

w
|'|'|¥ rE

=]
o
n
ox
o
-

L)i
40
Hu
ni
I3
=
1z
[

ot Mgt 3, 4, 5
9 9 ’6




P = @) xo12 791 51 9lol 0] £ 2ok it 2RUCE

A AT E A

ofcH ®Q 1



EB TS 2o M2 |2 8¢ X = 2lol =0 1 2CHZ H)H D7LICE

Mol AT B | |

ofch Mg 8



9 TS 2ol M2 |2 9 X = 2l =0 1 DCHZ HPH DRLICE

—>
oI AT|E A

odch ®IQt 9



